= o= = $
FILKTF
ERAIE ¢ heep:/fwww.tegs.te.edu.tw/ ~sagit/cpp/q5.hem

—. FJCH ASCII #

—EEXTE, BFHEL AR RMABEHTT. BXT—HFT, RATUA—
HEGH O EATFTLRER, flw:

char c="a";

MEMAN—EFT, ATHEES K :

char c;

scanf("%c", &c); // C
c=getc(stdin); // C
cin >> ¢; // C++

cin.get(c); // C++

LEWH gere() WEFH UMM EFHR—EFT, T sedin B ZAF EH N\ (Standard Inpuv),
At AW SRR AL (TREHF M)

MERH—EFT, ATURATENS R

char c="a";
printf("%c", ¢); // C
putc(c, stdout); // C
cout << ¢; // C++

cout.put(c); // C++

L EH stdour B AR E#H H (Standard Output), gt B EFES Y, (THEHELR)

FEL, FREEMYREU—ENCLTHEHORGHFE 1 Byre), WEMEAHRAEHFH
H B A B FIFEA ASCIL #5 (American Standard Code for Information Interchange), il

48 0 65 A 97 a
49 1 66 B 98 b
50 2 67 C 99 c
51 3 68 D 100 d
52 4 69 E 101 e
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WHER, HEFTHE—EHT, WAAEZBEHZ 32 (MNEFELEA)., HRM
BT P AR A R, e

char c="a’;

c+=3;

cout << G

tatpl eyt d ERATENEXTUGE A 2 2 ZEefey ASCI #HE :

char c;

for(c="A'"; c<='Z"; c++) {
cout << ¢ << " " << int(c) << endl; // C++
printf("%c %d\n", ¢, ¢); // C

}

Rz 4, C/IC++ BEA —RAFHRF L, BEURFE \ AHE

' — BFTL, ARFEMER, CHELRE O
\n' — New Line, #1T#%

"\r' — Carriage Return, I 874# (Bl Enter %)

\¢' — Tab, Bk

"\b' — Backspace, 15|34

\a' — Bell, "—%

Wo— AR\
" — EalgE
\"— gk

EREAG AT TRBRTFRANTTH, BRTA o='A' && c<='Z'" ZHWHFEN,
C/C++ RET —RF T RENEY, FTHEMEFACIMERL #include <ctype.h>, &L EH

§ RN

isdigit(c) — # ¥ ¢ EEAYUTF
islower(c) — H|Bf ¢ ZERNEF
isupper(c) — B ¢ BEERHAEF
isalpha(c) — #/Bf ¢ BEAF
isalnum(c) — H B ¢ REAFHRIF

N

ar
H

7

Y
N

a
&

&
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Z. F&

BTR, &MAw2TE, FERE—BXT, RMATUR-HEL55 " €ZEXT
KRR, mR C FREHTENBRBREEPS. Cor ¥4 suing BT 8 AR, MEH
FLNEFIRFEF—ETE, KMALEETENRE .

#define LEN 80
HREEFERY .

char s[LEN], t[LEN]="TCGS";

THEHWBTFEET 5. t AFE, KEA LEN 7T, ZAMEEEFENRFEEETE
CHRE, NRMBrAERERER FEL SEFERZEAE—HE 0 WFET,
gt 23, L@EH "TCGS" F&, ZFFLHAEMT 5Bytes, & —BEHFNER. KM
AT E e RES Y
(0] 1] 2]

T RMERATw H—E 7 2T UH TES K

char s[LEN];
scanf("%s", s); // C
printf("%s\n", s); // C
cin >> s; // C++

cout << s << endl; // C++

W BRI, HA s A2 T Wi, ATUEF scanf) EBRFEBEE s WH L
Rt & #3,

EFEMNE, LENFRAIN AR EFLE, AlRMMANZ "Hello, TCGS!" B R
A "Hello,” HEFEEFE s ¥, MEREEERKRN, KT UERBTHERRN TR
fgets(s, LEN, stdin); // C

cin.getline(s, LEN); // C++

LE R, fgets() EREZENBATAIE (\n'), T cin.getline() B e, EEET

=z
o

FAFEZFTHES], FFUBREXMERFSE —EFT, TUA s[i] 7 AEE 6
WTENERTURAN—TXFHRECEEET KB
char s[LEN];

int i, len;

cin.getline(s, LEN);
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len=strlen(s);
for(i=len-1; i>=0; i--) cout << s[i];

cout << endl;

TEEMAT B sulen() WEH, CHHREIEEZFENRE. EFEAEEEHE
45 #include <string.h>, T string.h MERHFLEHAN T EEY, T

sulen(s1) — FE s1 §RECE 0 F7)

strepy(sl, s2) — M s2 BN AEHEEE| 51

stremp(sl, s2) — HLER sl. s2 BUR, WERERMEMEE o
strcat(sl, s2) — #F s2 EEE 51 £W@

strstr(sl, s2) — HE 2 FEE sl FEFE-RHAWLE
strev(sl) — # s1 FHEEE (FEHE)

=, WA

EEZRMFEREY, EENEAREWEEHME, UBARTREBEBETSR, £
FEHEBANB) T AAEESEFRERERLEEN £, #flw A>C. B—>D,
BEWN Y>A Z—B, FTANAEMEIRE 78, TE G AR RAERTE,
#l4w "I LOVE TCGS." H|8 % i "K NQXG VEIU.",

B2 ENERE, WA BERHRGAEL, ERBEHGCHHERERGAL, K
DA SE K B T 7

B\ 1 KNQXG VEIU.

#H 1 1LOVE TCGS.

¥\ 2 : PRUE 2005 KU EQOKPI UQQP.
¥ 2 ¢ NPSC 2005 IS COMING SOON.

EMTU—EF T BT TR ER WwREAFTHE, ALER 2 WRK 2 ZHZk A
BN, Bk 26, RARECHWER, WRAZFH, AEEREHT, BXAWwT:

char c;
while (1) {
cin.get(c);
if( cin.fail() ) break;
if( (>="A") && (c<='Z")) {
c-=2;
if( c<'A") c+=26;
}

cout << ¢;
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WA RFH Cal+Z Fi% Entere EHEA cinfail) AIBTETEHEGERT . WRE
R C yeE, UK

¢ = getc(stdin);

if( c==EOF ) break;
PR T DAAE - T AR R N\ R AR SO, TR AR A SRR CF

W AT

H A 1 Q458 — The Decoder

A 1 Q10082 — WERTYU

H A 1 Q10222 — Decode the Mad man
HAE L Q272 — TeX Quotes

%46 1 Q494 — Kindergarten Counting Game

AN A T ol

&4 1 Q10340 — Allin All
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458 - The Decoder

Write a complete program that will correctly decode a set of characters into a valid message. Your
program should read a given file of a simple coded set of characters and print the exact message
that the characters contain. The code key for this simple coding is a one for one character
substitution based upon a single arithmetic manipulation of the printable portion of the ASCII
character set.

Input and Output
For example: with the input file that contains:

1JK]'pz'{ol'{yhklthyr'vm'{ol'Jvu{yvs'Kh{h']Jvywvyh{pvu5
1PIT pz'h'{yhklthyr'vm'{ol' Pu{lyuh{pvuhs'l|zpulzz Thjopul Jvywvyh{pvu5
1KL]'pz'{ol'{yhklthyr'vm'{ol'Kpnp{hs'Lx|pwtlu{ Jvywvyh{pvu5

your program should print the message:

*CDC is the trademark of the Control Data Corporation.
*IBM is a trademark of the International Business Machine Corporation.
*DEC is the trademark of the Digital Equipment Corporation.

Your program should accept all sets of characters that use the same encoding scheme and should
print the actual message of each set of characters.

Sample Input

1JK]'pz'{ol'{yhklthyr'vm'{ol'Jvu{yvs'Kh{h']Jvywvyh{pvu5
1PIT pz'h'{yhklthyr'vm'{ol' Pu{lyuh{pvuhs'l|zpulzz Thjopul'Jvywvyh{pvu5
1KL]'pz'{ol'{yhklthyr'vm'{ol'Kpnp{hs'Lx|pwtlu{ Jvywvyh{pvu5

Sample Output

*CDC is the trademark of the Control Data Corporation.
*IBM is a trademark of the International Business Machine Corporation.
*DEC is the trademark of the Digital Equipment Corporation.

MyNote: Finished Date:

A BEN LTRSS, ERRTRAT (\n') RTINS, HAXFEEZ AU
RAEREER, ERDERES D, FEARLTOERA, WiHEE
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10082 - Problem C: WERTYU

A common typing error is to place the hands on the keyboard one row to the right of the correct
position. So "Q" is typed as "W" and "]" is typed as "K" and so on. You are to decode a message

typed in this manner.

Input consists of several lines of text. Each line may contain digits, spaces, upper case letters
(except Q, A, Z), or punctuation shown above [except back-quote (*)]. Keys labelled with words
[7ab, BackSp, Control, etc.] are not represented in the input. You are to replace each letter or
punction symbol by the one immediately to its left on the QWERTY keyboard shown above.
Spaces in the input should be echoed in the output.

Sample Input

O S, GOMR YPESU/

Output for Sample Input

I AM FINE TODAY.

MyNote- Finished Date:

MU H—EFRRES HTEM—Ee, HeRlveERAEEN R, flwdk
T W HIEFE E, T P BlEFY [0 Fi# Enter. A, B, Tab. Cul. Al
Shift & 28 R FZ HEW, FAFR N RE XF, HEEEERHNH X F (PS.
£ switch)
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10222 - Decode the Mad man

The Problem

Once in BUET, an old professor had gone completely mad. He started talking with some
peculiar words. Nobody could realize his speech and lectures. Finally the BUET
authority fall in great trouble. There was no way left to keep that man working in
university. Suddenly a student (definitely he was a registered author at UVA ACM
Chapter and hold a good rank on 24 hour-Online Judge) created a program that was able
to decode that professor’s speech. After his invention, everyone got comfort again and
that old teacher started his everyday works as before.

So, if you ever visit BUET and see a teacher talking with a microphone, which is
connected to a IBM computer equipped with a voice recognition software and students
are taking their lecture from the computer screen, don’t get thundered! Because now your
job is to write the same program which can decode that mad teacher's speech!

The Input

The input file will contain only one test case i.e. the encoded message.
The test case consists of one or more words.

The Output

For the given test case, print a line containing the decoded words. However, it is not so
hard task to replace each letter or punctuation symbol by the two immediately to its left
alphabet on your standard keyboard.

Sample Input

k[r dyt I[o

Sample Output

how are you

MyNote- Finished Date:
HUA AR R, R R BRI A R S AR T
PS. WAL=, W DGR BRI K, REZZREETEL,
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272 - TEX Quotes

TeX is a typesetting language developed by Donald Knuth. It takes source text together with a
few typesetting instructions and produces, one hopes, a beautiful document. Beautiful documents
use ** and " to delimit quotations, rather than the mundane " which is what is provided by most
keyboards. Keyboards typically do not have an oriented double-quote, but they do have a
left-single-quote ' and a right-single-quote '. Check your keyboard now to locate the
left-single-quote key * (sometimes called the *‘backquote key") and the right-single-quote key '
(sometimes called the ‘‘apostrophe” or just ‘‘quote”). Be careful not to confuse the
left-single-quote * with the *‘backslash" key \. TeX lets the user type two left-single-quotes ** to
create a left-double-quote ** and two right-single-quotes " to create a right-double-quote . Most
typists, however, are accustomed to delimiting their quotations with the un-oriented
double-quote ".

If the source contained

"To be or not to be," quoth the bard, "that is the question."

then the typeset document produced by T'eX would not contain the desired form:

**To be or not to be," quoth the bard, **that is the question."

In order to produce the desired form, the source file must contain the sequence:

**To be or not to be," quoth the bard, **that is the question."

You are to write a program which converts text containing double-quote (") characters into text
that is identical except that double-quotes have been replaced by the two-character sequences
required by TeX for delimiting quotations with oriented double-quotes. The double-quote (")
characters should be replaced appropriately by either ** if the " opens a quotation and by " if the
" closes a quotation. Notice that the question of nested quotations does not arise: The first " must
be replaced by **, the next by ", the next by **, the next by ", the next by **, the next by "', and so
on.

Input and Output

Input will consist of several lines of text containing an even number of double-quote (")
characters. Input is ended with an end-of-file character. The text must be output exactly as it was
input except that:

o the first " in each pair is replaced by two * characters: ** and

o the second " in each pair is replaced by two ' characters: "

Sample Input

"To be or not to be," quoth the Bard, "that MyNote:ﬂ%% FEAEE " R

is the question". DL B, EESEY

The programming contestant replied: "I must disagree. . .
2] N " ﬁ =

To *C' or not to 'C', that is The Question!" RIZORDA ™ A, 1 A

Sample Output PR 0 1 K
Finished Date:

**To be or not to be," quoth the Bard, **that
is the question"’.

The programming contestant replied: **I must disagree.

To *C' or not to "C', that is The Question!"
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494 - Kindergarten Counting Game

Everybody sit down in a circle. Ok. Listen to me carefully.
**Wo000000, you scwewy wabbit!"

Now, could someone tell me how many words I just said?

Input and Output

Input to your program will consist of a series of lines, each line containing multiple words (at
least one). A **word" is defined as a consecutive sequence of letters (upper and/or lower case).

Your program should output a word count for each line of input. Each word count should be
printed on a separate line.

Sample Input
Meep Meep!
I tot I taw a putty tat.

[ did! [ did! I did taw a putty tat.
Shsssssssssh ... I am hunting wabbits. Heh Heh Heh Heh ...

Sample Output

MyNote- Finished Date:
A HEEATHRA S D EE T (EH AN EXTH),
EE, ARTEREEDH 101
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10340 - All in All

You have devised a new encryption technique which encodes a message by inserting between its
characters randomly generated strings in a clever way. Because of pending patent issues we will
not discuss in detail how the strings are generated and inserted into the original message. To
validate your method, however, it is necessary to write a program that checks if the message is
really encoded in the final string.

Given two strings s and # you have to decide whether s is a subsequence of 7 i.e. if you can
remove characters from ¢ such that the concatenation of the remaining characters is s.

Input Specification

The input contains several testcases. Each is specified by two strings s, 7 of alphanumeric ASCII
characters separated by whitespace. Input is terminated by EOF.

Output Specification

For each test case output, if s is a subsequence of .

Sample Input

sequence subsequence

person compression

VERDI vivaVittorioEmanueleReDiltalia
caseDoesMatter CaseDoesMatter

Sample Output

Yes
No
Yes
No

MyNote~ Finished Date:

A E—TAMETE s ¢, R s 2« WTFE, UREK « FHEELFHZ
M s —Hk, BIEH "Yes", BHIFH "No" .

EE, ARFEREEDH 90001,
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string ¥ stringstream

ERAIE ¢ heep:/ fwww.tegs.te.edu.tw/ ~sagit/cpp/q6.hem

—. string

suing £ Co+ REWFBARE, fr C WFEML, RTHAFRRENERN, BHH
WF L B . EFEM suing, LB LMANE—AT !

#include <string>

BTRESE—HFE8H, TUSEM®:

string s;

BT UNEEENFE R R CRREMEF S

string s="TCGS";

MER/ITE—EFT, PEE C WFE—REA s[i] WFABF BT KM

ZWR s HZEFTT, B C WFEW s3] £ 0 Fh, E& C+ B suing HIZ R
3| s[2] EEF T o

TERME string Hi R N G A

string
T string s; char s[100];
HEE i BT s[i] s[i]

N \ s.Jlength()

FERE K s.size) strlen(s)

BB —AT getline(cin, s); gets(s);
B 7 s="TCGS"; strepy(s, "TCGS");

= o s::iggg ; strcat(s, "TCGS™);

F & B s=="TCGS" stremp(s, "TCGS")

fe b aRAs, HATT LB swing R ZEIWRER, FBRWREAFANFER, HE

% string T BT .,

12
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—. stringstream

stringstream £ C++ TN 7 —1E ? $ A i $ i (stream)% TfF, 7&%@@%3@% iostreams,
fstream AL ERME T R BEHEA suingstream, S LINE —AT !

#include <sstream>

stringstream EERAAEM —FFE D E, TUKA clear() UK su() HHeEFERE
BB N, B >> BENSER@Y, fl:

string s;
stringstream ss;
inta, b, ¢;
getline(cin, s);
ss.clear();
ss.str(s);

ss>>a>>b>>c;

T &AE 2 —EE A stringstream ORI RS

BRE WA E A —ERTY N RRETHRA N T8N, F—TEREATER
BEWEHGKS 20 B, HTRKA 200 HFT), FEE—HEXFETHEME L
o

N

3

123

2017235477 60

111 222 333 444 555 666 777 888 999

i

6
251
4995

BT

string s;

stringstream ss;

int n, i, sum, a;

cin >> n;

getline(cin, s); // BB IRAT
for (i=0; i<n; i++)

{

getline(cin, s);

13 WA R R T



ss.clear();
ss.str(s);
sum=0;
while (1)
{

s >> a;
if (ss.fail() ) break;
sum+=a;

}

cout << sum << endl;

=. C FELEBHE — streok()

streok() BHE 7 —HF B0 FWEE, A UMEARN C ERTF EKEENFTE
CA DB R ETFF i, RMT A awi(s) «  atol(s) «  atof(s) % B HATT R F
B R, REH. FEHH(double)E (PS.E #include <stdlib.h>).

RMEEEFERE .
#define LEN 200
ST L

int n, i, sum;
char s[LEN], *p;
cin.getline(s, LEN);
n=atoi(s);
for(i=0; i<n; i++) {
cin.getline(s, LEN);
for (sum=0, p=strtok(s, " "); p; p=strtok(0, " "))
sum+=atoi(p);
cout << sum << endl;

}

sueok() MW E —HABZENHN T E, F_HBBAELHT L. WRKH, Al
BEHANRNE —ET B, WwREAK, RAEE 0, MHEZKER srok() B,
AE—E2HEA NULL(0) , EREREGEE E—RNFETE, RAWT :

Lo streok() ZH] (s="ILOVEU") :
s0] | s[1] 21 s[3]
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24T p=streok(s, " ")

p # s[0] BYALHE, strrok() FOEE s[2] BYGLAE

3. HAT p=strtok(0," ") :

p % s[2] BfLdk, strook() L&k s[7] BOfLAE

4FHAT pestrrok(0, " ") :

p % s[7] BILAE, strrok() B8k s[8] BAALAE

REimeREy, RMATURERANTE s GRTARBET 7 &, MELTFE
FREI 0 2

W9, #RE A Q482 — Permutation Arrays

N

312
32.0 54.7 -2

W

54.7
2
32.0

A CMAWAXT, F17TF N HEHR KXFTF N BFEROEF, #E
5 AT HY T RERUR T BT R
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482 - Permutation Arrays

Input

In many computer problems, it is necessary to permute data arrays. That is, the data in an array
array. Let x be an array that is to be permuted and let x"be the permuted array. Then, we have

must be re-arranged in some specified order. One way to permute arbitrary data arrays is to

specify the permutations with an index array to point out the position of the elements in the new
the relationship between x and x' that x; = x;.

The input begins with a single positive integer on a line by itself indicating the number of the
is also a blank line between two consecutive inputs.

cases following, each of them as described below. This line is followed by a blank line, and there

Each input set will contain two lines of numbers. The first line will be an index array p
floating point format.

containing the integers 1...7, where 7 is the number of integers in the list. The numbers in the
first line will have been permuted in some fashion. The second line will contain a list numbers in
Output

cases will be separated by a blank line.

For each test case, the output must follow the description below. The outputs of two consecutive

The output for this program will be the list of floating point numbers from the input set, ordered
according to the permutation array from the input file. The output numbers must be printed one
per line in the same format in which they each appeared in the input file.

Sample Input
1

312
32.0 54.7 -2

Sample Output
54.7

2
32.0

MyNote-

R MAWAXT, F—7F N HEH KX
E5 AT I B WK B 2R

Finished Date:
8o

N TR E T,

=g
an)
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